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1. Where does the conversation take place?

506-9426 506-9526 506-9436
A B C
3.What time might it probably be when the conversation took place?

AM AM P.M
A B C
WF R 18— B i, B4 4~6 =4/,
4,What is the usual temperature in Cambridge in Summer?
A. 24°C B. 25C C:26°C
5.Where does Dr. Barnes suggest Wang Yan should stay in Cambridge?
A. In a flat near the college.
B. With an English family.
C. With a language teacher.
6. What does Dr. Barnes mean when he mentions Mason?
A. Some things cannot be learned from books.

B. Foreign students are very much alike.
C. Choice of where to live varies from person to person.
W R i — Bk, B 7~9 = AN/
7.What is the speaker doing?
A. She is delivering a speech.
B. She is giving a training course.
C. She is advertising on TV,
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8.What has the centre been doing during the past 2 or 3 years?
A. Providing jobs for young people after they left school.

B. Giving many young people a lot of help and advice.
C. Helping 50% or even 60% of jobless young people.
9.Why does the speaker believe that the centre is very important to young people?
A. Because it can offer them information about jobs.
B. Because it can offer them suitable jobs.
C. Because it can offer a free hot—line service.
Wy R T — B FE A 10~12 =AS/NEL
10. When is the heavy tra ffic hour on most city streets according to the passage?
A. Between 9 ¢ 00 a.m. and 5 ¢ 00 p. m. from Monday to Friday.
B. Between 8 : 00 a. m. and 6 ¢ 00 p. m. from Monday to Friday.
C. Between 9 : 00 a. m. and 5 : 00 p. m. every day.
11. Which of the following is not against the laws in big cities to cross the street?
A. At any place. B. At the corner. C. At any place without traffic.
12.Why may people not follow closely the traffic laws in small towns?
A. Because cars take care of the people.
B. Because people don’t like the laws.
C. Because the streets are not crowded.
W R i — B X3S, [ 13~15 =4S/,
13.Why did the woman call the manager?
A. To tell him she found a handbag.
B. To ask about her missing handbag.
C. To tell him her seat number.
14. When did the woman attend the evening show at the theatre?
A. On the 15th June. B. On the 15th July. C. On the 16th July.
15. Which of the following was not mentioned to be inside the bag?
A. A bunch of keys. B. A wallet. C. An ID card.
FEW . WTHUE R (3L 5 /NE /NS 1 4y, W5 5 4D
Wr I — B AR R R, AT B A PRI B (R B A KBRS R 16~20 55 #
o, SREEME . BB R 2 4.

About eating habits
The English Eat potatoes and drink tea every day. (omitted)
In 16 Bread is the main part of every meal. (omitted)
Americans Drink a lot of 17 and coffee. (omitted)
Australians Drink large amounts of beer. (omitted)
I Brame People fifink winiesetv}::'l;gdh:y:[o " dEI.iCious' Qouiitec)
In Hong Kong People enjoy eating snakes. (omitted)
19 Eat sheep. Never eat goat meat.
The Japanese Enjoy eating 20 Don’t like sheep meat.
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1. Where does the conversation take place?

post office

FIFJ:.EIH
HAH

C

3. How much does the man have to pay altogether?
A. ¥15. B. ¥ 25. C. ¥.35.
Wy T — BEXH i, M EE 4~6 =/,
4.What kind of room does the man prefer?
A. A non-smoking room. B. A smoking room. C. Either one is OK.
5. For which day does the man make a reservation finally?
A. June 22nd. B. June 21st. C. June 20th.
6. How much is the man’s room in total?
A. 80 dollars. B. 88 dollars. C. 96 dollars.
W R — B, B 7~9 =AM
7. How did the speaker travel then?
A. By air. B. By train. C. By bus.
8.What did the speaker use to be?
A. A cook. B. A waitress. C. An air hostess.
9. What can we know from the speech?
A. Traveling on the ground can offer as many services as in the air.
B. Traveling on the ground can sometimes offer more services than in the air.

C. Traveling in the air offers more and better services than on the ground.

L L o

o

"
%\ﬂ/“\g»’”\ -



Wr R T — &ZEEI IEIK% 10~12 E’l‘/]\@
10. How long does a cold usually last?
A. About a week.

B. More than ten days.

C. About two weeks.
11. What treatment seems to be effective for the speaker’s wife?

A. Taking medicine.

B. Drinking whiskey.

C. Swimming.
12.Which of the following statements is true?

A. Colds mean the same thing as the flu.

B. The flu may make the patient uncomfortable in the stomach.

C. There is special treatment for colds.

W R T — B X 3, mE S 13~15 =/,

13. What is the topic of the dialogue?

A. Sales in America. B. Dime stores in America.  C. Shopping in America.
14, What do we know about sales?

A. In some cases it is a deceit.

B. Things on sale can be exchanged.

C. Products on sale are not worth buying.
15. If you want to buy a $ 100 ring in a department store in New York , you will actually have to pay

A. $ 100 B. § 108 C. § 104
B WTHUE R G 5 NE /NS L 4, W0 5 40D ,

W R T — B, AR R H R, AT B A PR Z A E R A E BRSO 16~20 A%

W, SRE MR . B R 2 e

Weather Report

The 9 ¢ 00 p. m. temperature Lakefront 62, Midway 62, O’Hare 16
Tomorrow Partly sunny and very 17

Tuesday 18 and mostly sunny
Wednesday and Thursday 19

Friday _ 20 , chance of thunderstorms
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1.What does the company sell?
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A B C

3.What kind of person does the company want to hire?

A. Salesmen who can drive cars around.

B. University graduates with energy.

C. Managers with working experience.

WF T T — B X, B S 4~6 =S/,

4.What had gone wrong in their house?

A. Their washing machine. B. The electricity. C. The lights.
5.Which of the following is true?

A. Mr. Barnes did nothing for them at all.

B. Mr. Barnes asked too much money from them for his work.

C. Mr. Barnes did help them but couldn’t solve the problem completely that day.
6.Why did the man think it would cost him dearly?

A. Because their car needed repairing.

B. Because he didn’t have a good job.

C. Because he wanted to buy a car.

WE R T — Bk, FE S 7~9 = AN/

7.What is the speaker?

A. He is a student.

B. He is a working staff.

C. He is a player.
8.What time does the centre open?

A. At 10 : 00 a. m. B. At 10 : 00 p. m. C.At 5: 00 p. m.
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9.What is the speaker mainly talking about ? .
A. Sports rules.
B. Indoor sports.
C. An introduction to the sports centre.
W R T — B, B SR 10~12 =AM
10. How many minutes before show time does the box office open?
A. 35 minutes. B. 45 minutes. C. 55 minutes.
11. Which film lasts the longest?
A. Road Trip. B. Pride and Prejudice. C. Friends Forever,

12. For a 6-year-old child , how much does a regular ticket cost?
A. $ 3.5. B. § 4.5. C. $ 6. 5.
W T — B, BB S 13~15 =AM,
13.What are the two speakers talking about?
A. Outdoor activities in autumn,
B. The National Day.
C. Plans for the coming holiday.
14. On what do the woman and the man agree?
A. Autumn is the ideal time for traveling.
B. Autumn is the best season for swimming.
C. Lushan Botanical Garden is the most beautiful garden in China.
15. What would the two speakers do as a result of the conversation?
A. Buy tickets. B. Reserve tickets. C. Go fishing.
FETF: WTHUE R G 5 /N BE/NE T 4, W4 5 40D
W R T — Bext i, AR H R, AT B A A R G B A B BB S N 16 ~20 25 H
W, SRR, B A 2 2.

Types of Illustration Purposes

Tables To present 16 information

Line charts To show %

Bar charts To show comparisons or 18

Pie charts To show 19 of a whole

Flow charts To show relationships or 20 steps
Drawings or diagrams To show how something looks or how something is used
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1. Where does the conversation take place?

2.What kind of mobile phone does the man buy?

A. Nokia. B. Motorola. C. Siemens.
3. How much does the man pay for the mobile phone?
A. $ 1,000. B. § 850. C. § 900.

W R T — BEXHE S, [IE SR 4~6 =/,
4, Where did the conversation take place?
A.In a restaurant. B. In a plane. C. On a ship.
5.What is the man going to do?
A. Fetch his wife,
B. Travel around the world.
C. Visit his grandson.
6.Which of the following is true?
A. The man is a teacher.
B. The man was perhaps a soldier during World War Two.
C. The man traveled a lot on business before.
W R T — B, B T~9 =AML
7. At what time did Mr. Wood went upstairs?
A. Early in the morning.
B. At 12 o’clock at night.
C. The time the party was over.
8.Which is true about the party?
A. The party had just begun when Mr. Wood went upstairs.
B. The party had finished when Mr. Wood went upstairs.
C. The party had lasted for about three hours when Mr. Wood went upstairs.
9.Which of the following is NOT true?
A. Mr. Wood enjoyed the music of the party upstairs at first.
B. Mr. Wood joined in the party at last.
C. Mr. Wood was angry at first but later joined in the party.
W R — B, BA S 10~12 =AM
10. What is the subject of the passage?
A. Plants to grow in a garden.
B. Kinds of gardens.
C. Planting a garden.
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11.What is the last step to take according to the passage?

A. Add plant food. B. Plant the seeds. C. Pull the weeds out.
12. Which of the following is NOT true?

A. All sorts of seeds can be mixed together.

B. Different kinds of seeds can grow in the same garden.

C. Water, sunshine and food are essential to the growth of seeds.

Wr R T — BExt i, B2 13~15 =AM,

13.Why didn’t Jack buy all his textbooks at the school bookstore?

A. Because he didn’t have enough money with him.

B. Because one of them was unavailable.

C. Because he hasn’t made up his mind which to buy.
14. What does Mary suggest?

A. She suggests that Jack check the student bulletin boards.

B. She suggests that Jack make a new book list again.

C. She suggests that Jack try the bookstores in the downtown.
15. What will Jack and Mary do next?

A. Carry the books to Jack’s car.

B. Go to the second-hand bookstore.

C. Register for the same course.
FTF . WTHUE R G 5 /NI /NI L 4L WA 5 4

WE T — B, AR HE A E ZE SR AT B i A R RO B S B A K B AR S5O 16~20 B

Hh, SRR . B R R 2 24

A Job Interview

Name of the interviewee Betty Milton
Position 16 , part time
Experience Four years at 17

Afternoon: 18 and Friday
Working time Evening: Friday

All day: 19
Wage 20 an hour with tips
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1.What was the result of the first half of the match?

A B C

2.Which team won the match?
A. The Manchester United team.
B. The Liverpool team.
C. Neither.
3.What happened towards the end of the second half?
A The Liverpool team had to play with its 10 players.
B. One of the Manchester United’s players committed a fault.
C. One of the Liverpool’s players committed a fault.
W T — B, [ 4~6 =/,
4. What’s the most important reason that the man is against traveling abroad?
A. He can’t speak any foreign languages.
B. It’s more expensive.
C. It needs a careful planning.
5.What can we know from the woman speaker?
A. Her job includes the use of foreign languages.
B. She has been to most interesting places in Europe. .
C. She has a well—paid job in Britain.
6.What’s the man’s difficulty staying abroad?
A. He is not used to the climate.
B. He is not familiar with the situations.
C. He can’t speak foreign languages.
W R — Bk, BA S T~9 =AhEL
7.Which of the following is considered bad in Arab countries ?
A. Eating with your left hand.
B. Lifting the bowl for more food.
C. Using a bowl to have liquid food.




A. Mexico. B. Japan.
9. What advice does the speaker give?
A. Doing as you do at home.
B. Asking people for advice before you go to a meal.
C. Following the example of the people there.
Wy R — B, FE S 10~12 =4 /Dl
10. How old are the tower and the bell?

C. Britain.

A. 500 years. B. 300 years. C. 200 years.
11.Which of the following is the original ?

A. The bell. B. The church. C. The tower.
12. At what time is the bell rung?

A. On Christmas Eve,

B. When the sun rises.

C. When the sun sets.

Wy T T — B, SR 13~15 =S/,

13.Who is Bobby?

A. Sam’s friend. B. Jack’s brother. C. A dog.

14.What’s the relationship between the two speakers?
A. Mother and son.
B. Husband and wife.
C. Teacher and student.

15. The woman wants to keep the dog mainly because
A. it is little and funny
B. it will make the man unhappy
C. it will be good for the children

FT: THUER QL 5 /NS ANVE 143,05 5 4

WP T — BEX i, ARG H R VT B A AR B B A BB AR B R 16~20 (45 #

W, R EWE . B R Y 2 2Bk,

Hiring A Car

Purpose To 16 the city
Cars to be hired 17 choices, such as Xiali, Jetta, Toyota, Honda, Santana sedans
Xiali: 18 , 200 yuan a day

Rent Santana sedans: the big 19

these days, 20 a day

Jetta: 300 yuan a day




